
16/11/2011

JST22 3"

NO. Description Code Number Materials Notes,Standards Q'TY

JST22(01) Strainer 302201 ST 1

JST22(02) Suction cover 302202 FC 200 1

JST22(03) Nut 300803 SUS 304 M14 1

JST22(04) Washer 300804 SUS 304 M14 1

JST22(05) Impeller 302205 FCD 400 50HZ 1

JST22(05) Impeller 30220511 FCD 400 60HZ 1

JST22(06) Key 300806 SUS 304 4*4*12 1

JST22(07) Pump housing 302207 FC 200 1

JST22(08) Cover of oil chamber 107508 FC 200 1

JST22(09) Lip seal 107509 NBR TC 20*38*7 1

JST22(11) Plugs(08)&(26) 104011 SUS 304 M6*8 2

JST22(13) Mechanical seal 107513/10751301 CAR/SIC ￠20 2

JST22(14) Bearing (bottom) 302214 6305LLB 1

JST22(16) Motor casing 302216 SUS 304 2t*￠160*210 1

JST22(17) Rotor shaft 302217 SUS 304 79*90 1

JST22(18) Stator 302218 ￠160*79*90 1

JST22(20) Bearing (up) 107514 6304LLB 1

JST22(23) Overload protector 302223 KA313-GBXL103(DV) 1

JST22(23) Overload protector 230006 KA313-DCTL103 1

JST22(26) Upper cover 302226 FC 200 1

JST22(27) Cable gland 30222701 FC 200 1

JST22(28) Rubber sleeve 302228 NBR 1

JST22(31) Cable   302231 H07RNF 2.5*4*10M 1

JST22(31D) Sensor 311002 CU 45mm (DV) 1

JST22(32) Cable Clamps 320003 SUS 316+NBR 1

JST22(34) Handle 10403401 SUS 304+NBR 1

JST22(38) Discharge outlet         107538L PP 3"  1

JST22(38F) Flange 107538F02 FC 200 3"  1

JST22(02-1) Oring 107516-1 NBR ￠122*2.2 1

JST22(07-1) Oring 302216-1 NBR ￠139*2.2 1

JST22(08-1) Oring 300808-1 NBR ￠79*2 1

JST22(26-1) Oring 302216-1 NBR ￠139*2.2 1

JST22(27-1) Oring 271001 NBR ￠45*3 1

JST22(38F-1) Gasket 386001 NBR 3" 1

JST22(50-01) Screw 500035 SUS 304 M8*70   3

JST22(50-02) Screw 302250-02 SUS 304 M8*20   3

JST22(50-08) Screw 104050-34 SUS 304 M6*12   3

JST22(50-23) Screw 107550-23 SUS 304 M4*12   2

JST22(50-26) Screw 302250-25 SUS 304 M8*250   6

JST22(50-27) Screw 302250-05W-3 SUS 304 M6*20   3

JST22(50-31E) Screw 101050-31E ST M4*6    1

JST22(50-32) Screw 104050-32 SUS 304 M4*8    1

JST22(50-34) Screw 104050-34 SUS 304 M6*12    2

JST22(50-38F) Screw 302250-38F SUS 304 M8*35 2

PARTS FOR MODELS:


